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Multilayers — Example 1
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In[2]:= M[_lambda_, n_] =
{{Cos[beta[lambda, n]], -ISin[beta[lambda, n]] /n},
{-Insin[beta[lambda, n]], Cos[beta[lambda, n]]}}
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In[3]= MatrixFoxrm/[%] ]
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In[4]= A[lambda_] =
1/2 {{1, 1}, {1, -1}} . M[lambda, 2] . M[lambda, 1.5] . L
M[lambda, 2] . {{1, 0}, {1.5, 0}};
infsl= r[lambda ] = A[lambda][[2, 1]] / A[lambda][[1, 11]: ]
InfE}= Plot[Abs[r[lambda] ~2], {lambda, 0.2, 0.8}] )
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Multilayers — Example 2

normal
incidence

air,

n=2 |n=1.5 n=2 n=1.5
n=1

Tpm 1pm 1 pum

|# multilayer-1.nb

7= Anew[lambda ] =
1/2 {{1, 1}, {1, -1}} .
MatrixPower[M[lambda, 2] . M[lambda, 1.5] , 10].
M[lambda, 2] . {{1, 0}, {1.5, 0}};

niEl= rnew[lambda ] = Anew[lambda][[2, 1]] / Anew[lambda][[1, 1]]; ]
In[9]= Plot[Abs[rnew[lambda] #2], {lambda, 0.2, 0.8}] ]
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